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* We've established that the superiority of 0> |'"aj7 and it’s manifold
applications is that it focuses on the interaction between the two
human parties involved.

e We now want to zero in on the nature of that interaction.
* And what part of it are we using to effect |'wIT'?
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* Q: On what basis is 79022 q0> nIv

* Q: Is a source necessary to teach 79022 90> NIV
* |f so, then what is the source? And What might that tell us?

* Q: What is the scope of 0> nIw that is?
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* Q: On what basis is 79022 90D NIV
* Q0> and 90> nIY have the same value/worth
* QOd NIY = q0)
* 00D NIY achieves the formal status of 0>
* “Conversion”

» 2 different things, but both are effective
* Q0D NIV is effective just as q0d is effective



Do we need a Mpn’?

* Q: Is a source necessary to teach 79022 90> nIv
* |f so, then what is the source? And What might that tell us?

* If there is a source, do we always need one?
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Potential repurcussions

* Does it work against objections?

* What about fulfilling formal conditions?
* Shaveh kesef is formally kesef, or at lease colloquially considered as such.
* |t’s different, just it often can be converted.

* Does the reverse hold true- can money be treated as an object?

* Avnei Miluim — of course not, you can convert the object into money, but who
says you can do the reverse.

* Teshuva of the Rosh- Yes, value and objects of value, and currency are
interchangeable mediums of value.

* |s there a preference for 90> when possible? If you have cash can you
still use 90D NIIvY.
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The same as
everywhere else

Kinyanim- no
makor
Kiddushin- needs a

makor

Kiddushin doesn’t
need a makor,
Other things need

a makor
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* And perhaps that’s why he thinks 0> 'wIT'j7 isn’t a |37 at all.
* [IVI9 is certainly not Y"'w to |'wIT'y? (as per the T"0’s question)
 But is rather 1N nT'%7 y'anw nXNan



